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Rav Ashi said; for - IR29791 7792901 ' 77015 179 9XW 1150 K WK 20
instance he joined his hand lower than three and received it; like Rovo

Overview’

"WX 17 explains the case of X¥11 77 777 that he is 7105 since the 710°XY N2W MOK
7213 happen simultaneously (and there is no difficulty even if he dragged it out to
the 1""77), because he dragged it out with one hand and placed the other hand next to
it 0roY ' muno, and the 0°3, fell into the lower hand as he entered the 2"77.3 Our
mooIN disagrees with *"'wAo.

= N2D N2 NUINR DIYH 79999 INNIN INPT ‘DIVPA WIS
>'"'w9 explained that "X 217 is referencing this which the X723 asked previously,

‘there is no 772%13 TVIN’ since 771°73/72°wn is not 1"772 P -
= SNA9TS N2 NOIN 1) NIINT 2IUN NV

So now X" answers that there is also an 772%13 91998 like X29 ruled, in a case where
22001 A 70R% 17 8 —

mooin asks three questions on *"w1o:
= 193977 5naY PIYHT /T 0PN MAXYN PPy NNT NTN PNYY 13%39D NYP)

And the "1 has a difficulty with >"w"9; firstly, the fact that a person’s hand is
considered a place of 21y '7 5v '7 concerning naw, what relevance is there in
that rule regarding °1p —

A second question:
= 7975 19D NPT NYAND NN DIV 798 PNRT I

And additionally there is no need for any proof that his hand is 7232 for him -

!'In the X3 the X073 is X2772 12201 (not X2772Y 7122°).
2 See ‘Overview’ to *X 71"7 '01n on this Tny.
3 See 1130 17"7 "W,
4owr 117"
3 There is a rule concerning 7737 77°PY on Naw that it must be from/on a place which is @’nov 7"v7. X237 teaches that a
person’s hand is considered 7"¥7, so an 77°pY or a m37 from/on a hand is valid for Rx7 217,
6 See X27177 1"7 "W, who explains that since we see that a person’s hand is 21wn like 7"v7 regarding naw, it stands to
reason that the hand is considered a 21wn 0pn, regarding "3 as well that it should be considered as if he made a 77237
'3 179919, The °"1 does not understand the connection; why should we say that since a hand is like a '7 0pn therefore
it should be considered a '\» 751 772x37; why?!
"When we assumed that he was dragging it by rope (or in a bag) which is (like) a 72°wn P1p, we had the question that
it is not 1"712 7P, however now that we say that he received the item in his hand, he is automatically 71y it (even in
the 2"79).
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= 99595 YY1 NINNI 9N 51993 1NNT NVIVOY
For it is obvious since the 77910 wrote (regarding a v3) and he should place it in
her hand (777°2 3n17) as I explained previously; we do not require any 77237 —

A third and final question:
=10 NOYNY 1T GIRYI 1DION P10 RD INNPNT TV

And furthermore why does not X" establish the Xn>72 even in a case where the

joined hand was higher than 2’1oV 'a in the 1"71 -
= 1Rawny PIPR XA 900 MINY 1ON5D MY NNANN RIODT /) NN NAPONRNY 10930

For instance where the threshold was three 2’now higher than the level of the
7"77, and he was dragging it out close to the threshold, so there is no 77772537 in the
"9 (since he is lower than three o°’nov), however when he passes the 791P0X into
the 7"717, and places it into the adjoining hand, his adjoining hand is automatically
above 1", so there is a proper 77237, and according to this vw he would be
bringing support from K39, both for the 772°13 91 and for the naw 217 —

mooin presents a different X073 and a different interpretation:
= N2972 22) X ©9)7 1OUN 29902 9NN 13729 )2 PNNY 11929 RY¥NY 9901 NDI2)D NN

And noon finds it preferable like the X093 of the text which the 2'"'2%1 found in

the 11owR (German) texts, where it reads, ‘alternately like 829’ (instead of X117,
like &27) that X2775 1"X is a second version of s"WX 27 answer —

mooIN goes on to explain the two versions of s"WX 27 answer:
— 7313 DVNAY YT GP8YI PHIND 2ZRawN XNYM N
And the entire answer of *wX 217 is referencing the naw =98 (not 712°13, for once

8 x,72 (Xxn) a7
987 11"7 'oIn [TIE footnote # 6] on the 'X Tny.
19 m901n needs this following example, for otherwise if the hand is higher than o’nov '3 then the 213 would acquire the
0°> with this " 7991 77237 even in the 9¥27 N1, so the 72°13 M0°X would precede the axxIT NOX.
' As it stands now the support for X271 is only regarding 1°3p; that it is considered a 77237 (see footnote # 6), however
now the support from X231 will be also regarding naw that even though when his hand entered the *"777 it was "\ 77917
and it was not resting on an actual '7 21p», nevertheless he is 2’11 since 7"v72 12 721WN 7R %W 17°, and %27 will also be
a support regarding 1P (see 7"w 0" nn) that even though he did not actually lift it up v"x in the 7" (his hand was
there to begin with), nevertheless we say (according to *"w19) that since 7"v72 721wn 078 YW 17, in this case too it is
considered a f17237.
12 This means that the concept of '\ qun? (17° 71°%) is for the purpose of naw 210 (not for 72213 2v1), however (even
according to NoIN) the answer of 17° 77°X is necessary to explain how he was n1p the item 72°13 1172 (but regarding
721 it is irrelevant whether it is 77vn% or '\ unb).
13 mooIn maintains that if as he is dragging it out to the 7"717, and he placed his other hand next to the stolen object
and received it in his hand, there is a 7712°13 21’1, once it is in his hand without any 77237 necessary.
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it is in his hand he is 1P, for no 77237 is required), the reason we require 17° 7%

"3% 7MY (in the first version), is to explain the naw 2vn -
— 77 0PN 22) DY NIN NNIN NAY Py NIYWN NYT 2) DY INT

That even though that regarding naw, a 717177 is not valid unless it is on a '7 2p»,
and here it is in his hand, which is not a "7 03P (so seemingly there is no naw 2111 together with
the 172°13 MO°X), nevertheless -

- 74 0YP 155 Y /31 DUNYT M NVNY 1T 9PYYI NAY 2PN XN NN
Here, when he placed his receiving hand 's» un®, there is (also) a naw 2vn, for

a1 un® we do not require a "7 2R, since W munb -
= N7 NYIRN NN T 12799

It is like 712% (attached to the ground), and it is as if it is lying on the ground
(where there is a "7 01Pn). This is the first version of s"WwX 17 answer; the second version is -

= 779y 715 NAIYN 1177 N2 7M1 DYDY 119 4998 199N 14913 IN
Or you may also say; there is a n2¥ 211 even if he joined the second hand above

o°1ov '3, and this follows the ruling of X239 that a person’s hand is considered 7"'¥7.

In summation; the answer of X"9 according to mM»oIn is that 17° 77X, means he dragged it out of the
(") o°%va mwn by pulling it with one hand, and as it entered into the 1"77, he received it with
his other hand, thus making it 72°13 *3°1p, since once an object is in the hand, one is 1P without
any other requirements.!> The issue is how is there a naw 211 together with the 72733, for since a
hand is not a 7"¥7 23p» so there is no valid 7m37. For this X"7 gives us two options; either that the
receiving hand was "\ 7un2, where no '7 0P is required, since within three o°now from the ground
it is considered as if it is resting on the ground, or it may even be that the receiving hand was 75vn?
"\ and nevertheless it is considered a '7 2pn %¥ 17M17, since according to 827 the rule is that >w 17
7"'Y7217 72Wn OX.

mooin offers a different interpretation and X077
= 168D 1) X979 NON DN DY 179 N2 99NRT D) KD 05 192N

And the n''2 was not 97 the words 191 278 P 17° X2 9aK7', rather his X073 was

'N29727, and no more; it does not conclude 2117 X271 TMXT as in our X0 -
— N 9NIY RY T2 7HIRT 1IWNYUNRD 75D TI0NNR N¥I 9997 17999WH NONY

14 See footnote # 21. According to this 1"X it will need to be in a case of an '3 M3 A9IPOR (see footnote # 10), for
otherwise if his hand is "\ 79917 he was 772372 723 in the >0,
151t will be necessary to say that while he was dragging the object, it was not in his hand; he used a rope or a sack,
etc. to drag it, for otherwise he would be 71 right away.
16X 21 was referring to a different statement of 821
17 The xm3 asked previously, why mention the M5 from 71213 in a case of 773 when we can mention it in a case of
P71, The X3 previously answered that 72 7°90X°K 7737 to let us know that it is 732 Ax¥17 777. Now X" proposes a
different reason why he mentions 77a», in order to teach us that 7aR 7w X7 7° 7aX.
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And X"7 was coming to answer that it was necessary for the Xin to teach the case
of X¥ 77an in order to inform us'® that (738 m»w X9 7> 7a8) ‘the binding of a

hand is not considered a binding’* -
= TIN D90Y KD P> TINT (3,28 97 naw) Y2INNNA TINT N2 152919 NON)Y

And regarding this issue, X" cites from X29 who maintains in y>1827 P75 that

TAR 7ORR K 70 7AR. Now mooin explains where there is 7 73X here -
= 2099915 999 HINNIY HNN 1T NIXINY D2ID2 INYI NINYI 29910)

And we are discussing a case where the 213 remained inside the "7, and he
extended one empty hand into the 7"77 and with the other hand he dragged the

772°1) into the hand which was in the 1"71 -
= N9%9) 199 9927 1IN Y AVYHYN NYVNYT /Hn Avny 998 NP

And there is a naw 21’11 only if he joined his hand below o°15v 's for above '3 we

say TaR onw 70 72X for the hand is dragged after the body (which is in a>").
= N29T 19D 50 NP NMNWHT NYP 2RND ¥WIY9D]

[And according to the first explanation there is a difficulty, for according to the

first version of the answer, "X 17 does not agree with X239 that 7"v7> n2wn o8 %0 17 -
:[N295 1NN (x,7 naw) 1INI 229 12) NAYT 22XNINNM 1N

But all the ny1wn of naw noon and also >''1 all agree with x2 that 12 mawn o7 Hw 17
7"¥73, so how can X" disagree?!].

Summary
According to >"w" the proof from %27 is that it is considered a 'an 79¥1? 777237 since

7"¥72 1% 12Wwn 07X YW 17, According to the 0"2°1 the answer of ' nun? explains why
there is a 13, or it need not be 'an 7vAY since 7"¥72 72w 2R SW 17°. According to

18 Here too it does not mean that X" is only answering the previous question (see footnote # 17), but rather we divide
s'R"7 answer into two parts (see footnote # 12), the idea that he was 17° 77°% answers why there is a 72°13 2, however
the '\ mun? explains why he mentions 773, because there is this ¥17°1 of '¥a Tun? TR AW X2 7> TR,
19 The issue of 7 73 is in a case where a person’s hand is in one MwA and his body is in a different mwA, do we say
that his hand is attached to his body, 7a& 7»w 7> 738, and his hand is considered to be (more) in the M~ of his body,
or do we say Tak mnw X2 7 7aX and the hand is not considered to be in the mwA of the body, but rather in the mwA
where the hand is.
20 The person was in the >"717 and the receiving hand was in the 7"77; if we would maintain 7Ax 7w 7° 72X there would
be no naw 21 since there was no 717 in the 1"77, for the hand (even though it was in the 7"77, nevertheless) was
attached to the body which is in the >"77. And it is not considered as if a 7117 was made in the 2"77.
2! This is the 2"2°7 no7% who divides s™WwX 27 answer into two versions, in which only the second version follows the
ruling of X231 that 7"'v73 12 72wn 07X W 17° (see footnote # 14), but not the first version of the answer. That version
seemingly disagrees with this ruling of &237. This is the difficulty.
22 For example the first 71wn in Naw gives examples of the 2°2vn of 7010M ARYT where the item was taken from a hand
and placed into a hand, which forces us to accept that 7"¥7212 72Wwn 078 YW 17.
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the n"1 we are finding support of s'827 ruling that ['3n qun?] TR AW X2 7 7R to
understand why there is a 7"7172 A,

Thinking it over
What are the relative merits of each of the three explanations found in '01n (i.e. ,>"w"
0" and n'"9)?

5

TosfosInEnglish.com



